

$$T.H.V \quad \Delta f(a,b) = [f(a+h, b+h) - f(a+h, b)] - [f(a, b+h) - f(a, b)]$$

$$G(x) = f(x, b+h) - f(x, b)$$

$$h + \tau \quad U = \left\{ (x, y) \begin{array}{l} x \in (a, a+h) \\ y \in (b, b+h) \end{array} \right\} \in A$$

$$\Delta f(a,b) = G(a+h) - G(a)$$

$$x \in [a, a+h]$$

aplic T.V.M.C.

$$\Delta f(a,b) = G'(\xi) h = \left[\frac{\partial f}{\partial x}(\xi, b+h) - \frac{\partial f}{\partial x}(\xi, b) \right] h$$

$$\left[\tilde{f}(x,y) = \tilde{f}(a,b) + \frac{\partial \tilde{f}}{\partial x}(a,b)(x-a) + \frac{\partial \tilde{f}}{\partial y}(a,b)(y-b) + o(\sqrt{(x-a)^2 + (y-b)^2}) \right]$$

$$\frac{\partial f}{\partial x}(\xi, b+h) = \frac{\partial f}{\partial x}(a,b) + \frac{\partial}{\partial x} \left(\frac{\partial f}{\partial x}(a,b) \right) (\xi - a) + \frac{\partial}{\partial y} \left(\frac{\partial f}{\partial x}(a,b) \right) h + o(\underbrace{\sqrt{(\xi - a)^2 + h^2}}_{o(h)})$$

$$\frac{\partial f}{\partial x}(\xi, b) = \frac{\partial f}{\partial x}(a,b) + \frac{\partial}{\partial x} \left(\frac{\partial f}{\partial x}(a,b) \right) (\xi - a) + \left(\text{---} \right) 0 + o(\underbrace{\sqrt{(\xi - a)^2}}_{o(h)})$$

$$\xi \in (a, a+h)$$

$$\xi - a = \alpha h$$

$$\alpha \in (0, 1)$$

$$o(\alpha h) = o(h)$$

$$\sqrt{\alpha^2 h^2 + h^2} = \sqrt{\alpha^2 + 1} |h|$$

$$\Delta f(a,b) = \frac{\partial^2 f(a,b)}{\partial y \partial x} \cdot h^2 + o(h) \Rightarrow \lim_{h \rightarrow 0} \frac{\Delta f(a,b)}{h^2} = \frac{\partial^2 f(a,b)}{\partial y \partial x} + \cancel{\frac{o(h)}{h}} \rightarrow 0$$

$$H(y) = f(a+h, y) - f(a, y) \quad \Delta f(a,b) = H(b+h) - H(b) \Rightarrow \text{T.V.M.L.}$$

$$\Delta f(a,b) = H'(\xi) h = \left[\frac{\partial f}{\partial y}(a+h, \xi) - \frac{\partial f}{\partial y}(a, \xi) \right] h \quad \xi \in (b, b+h)$$

$$\frac{\partial f}{\partial y}(a+h, \xi) = \frac{\partial f}{\partial y}(a, b) + \frac{\partial}{\partial x} \left(\frac{\partial f}{\partial y}(a, b) \right) h + \frac{\partial}{\partial y} \left[\frac{\partial f}{\partial y}(a, b) \right] (\xi - b) + o(h)$$

$\sqrt{h^2 + (\xi - b)^2}$
"dh"

$$\frac{\partial f}{\partial y}(a, \xi) = \frac{\partial f}{\partial y}(a, b) + () 0 + \frac{\partial}{\partial y} \left[\frac{\partial f}{\partial y}(a, b) \right] (\xi - b) + o(h)$$

"o(\xi - b)"

$$\lim_{h \rightarrow 0} \frac{\Delta f(a,b)}{h^2} = \frac{\partial^2 f(a,b)}{\partial x \partial y} + \cancel{\frac{o(h)}{h}} \Rightarrow \frac{\partial^2 f(a,b)}{\partial x \partial y} = \frac{\partial^2 f(a,b)}{\partial y \partial x}$$

$$- f(x,y) = x^2 y \sin \frac{1}{x} \quad x \neq 0$$

$$-(x,y) = 0$$

$$\text{Si } x=0$$

$$\frac{\partial f(0,y)}{\partial x} = 0, \quad \frac{\partial f}{\partial x} = 2xy \sin \frac{1}{x} - y \cos \frac{1}{x}, \quad \frac{\partial f(0,y)}{\partial y} = 0, \quad \frac{\partial f}{\partial y} = x^2 \sin \frac{1}{x} \quad x \neq 0$$

$$\frac{\partial^2 f}{\partial x \partial y} = 2x \sin \frac{1}{x} - \cos \frac{1}{x}$$

$$\frac{\partial^2 f(0,0)}{\partial x \partial y} = \frac{\partial}{\partial x} \left[\frac{\partial f(0,0)}{\partial y} \right] = \lim_{x \rightarrow 0} \dots$$

$$\frac{\frac{\partial f(x,0)}{\partial y} - \frac{\partial f(0,0)}{\partial y}}{x} = \lim_{x \rightarrow 0} \frac{x^2 \sin \frac{1}{x}}{x} = 0$$

$$\frac{\partial^2 f(0,0)}{\partial y \partial x} = \frac{\partial}{\partial y} \left[\frac{\partial f(0,0)}{\partial x} \right] = \lim_{y \rightarrow 0} \dots$$

$$\frac{\frac{\partial f(0,y)}{\partial x} - \frac{\partial f(0,0)}{\partial x}}{y} = 0$$

$$\frac{\partial^2 f(0,0)}{\partial x \partial y} = \frac{\partial^2 f(0,0)}{\partial y \partial x}$$